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R AT ] :

R Wifk 50mLx1 i, 4°CIRAF.

WA Widk somLx1 i, 4°CIRAE.

WA= A, 4CROGIRAE . AT 25 mL 35— 780 i
WA Fr7ilx1 i, 4°CERAF. ImFRTINN 25 mL Z818/K 78 70 e
WAL Fr7ilx1 i, 4°CHRAF. IR RTIIN 30 mL 2818 /K 78 70
WA/ WA SmLx1 i, 4CHRAE.

Frvldh: Wifk 1.26mLx1 32, 0.5 pmol/mL BSE BRFRUEVE IR 4° CIR1F

FHES R ER
HARES: FIRHAFTRE () « WF—FHRmL)YA 1: 5~10 B CRIRELZ 0.1g A1, A ImL ik
F—) VKIBEISE, 8000g, 4°C .0 10min, B 3G, EVHIEER.
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LAY YT 30min, AT K2 580 nm, ZEIR/KAZE.

2. RN =AU E T 37°C/KM A 30min.

3. RS BUIRESLL AL, AN 100pl ARAES, 200pl 37 =, 600uL AT, 100pl RN, BAJEE
E#E 20min, T 580 nm WM, 0N A FRiEE

4, FEE. B G, A 100pL 208K, 200uL 77—, 600pL 7T, 100pL W_FIN, BAEE
E# & 20min, T 580 nm WIERM, N A FEAE.

5. %R BUEP %, BN 500 uL 780K, BT 37°C/KIBARIR 10min; JIA 500l RAFI00, #% %GR
Imin; A0 100pL FHEGR, JE5IJG 8000g 4°CES .0y 10 2040 HL EiE; AL @i\ _EE# 100uL,
B 200pL 77—, 600uL B, 100pL X578, RS ZREE 20min, T 580 nm WHEWWL, idh A
o B

6. MEHE: W EPE, A 100uL FHEGE, 500 pL k7=, BT 37°C/KBIRIE 10min; A 500uL 37 PY,
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35 ZE RS 1min; 8000g 4°C &0 10 43BN 3E; eSS b M hn N _E3E W 100uL, FIIA 200uL 355
=, 600uL 3RFF, 100pL AFIS, B EERFEE 20min, T 580 nm MUK, 809 A WIEE .
R SASMERES R RENE K.

TEAR:

(1) REARETHE

PR E X 37 CHEZ TR A BB 8 KB K Inmol BYERZ A 1 ANEEIE BT

B & A BEYE (nmol/min/mg prot) =C FrfEfx (A WEE —ANHE) + (AFHEET —A TAE) <M
i+ (CprxV1) +T=5500% (A MEE—AXNBE) ~ (AWRET—AZTHAE) ~Cpr

CArtfEdh: briEmIREE, 0.5 pmol/mL BEZRE; MiBEfEd:  (100+500+500) +100=11; Cpr: FHEGIKE H R
WEE (mg/mL), FERIMNE; VI AP RFHEEBAER (mL), 100uL=0.1 mL; T: iR
[@ (min), 10min.

(2) ZBHEARREITH

PR RE X 37°CAF I 4L A B Ak I 4T 2R A K AR A 1 Inmol FEERR N 1 MBS A7 .

BHHE OIS (nmol/min/g i #H) =C ARl > (A MEE —AXRE) + (AT —A TAE) <M
H+ (WxV1+V2) =T=5500% (A WEE—AXMBE) ~ (AWREE-ATAE) +W

C hrifEfh: ARdEMIREE, 0.5 pmol/mL BEEMR: MBfT4L:  (100+500+500) +100=11; W: HLURE (g);
V1: AR MR R CHBER AR (mL), 100pL=0.1 mL; V2: MHERAER (mL), 1mL; T: LR
B8] (min), 10min.
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